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1 1 306 BX EH T R —b+ 085301% 2kmBF INFEIF
2 1 602 #EHE mME Y754 X 085302%) 2kmEF INFEIF
3 2 302 IR RE 0845127 2kmBF INFEIE
4 2 607 N #E ERES1=7H57 085327%) 2kmEF INFEIF
5 3 603 IHBEEE EMAR—RKR—ILHFT 0849332 2kmEF INFEIF
6 3 303 O ZRiE Y754 08453 40%) 2kmBF INEIF
7 4 608 A% & ERS2=7H57 09%302% 2kmZF INFIE
8 4 304 ha RE BrR7R—(FEH) 095320%) 2kmBF INFEIF
9 5 606 Gith 99 wET7 R —h 09%322%) 2km&F INEIE
10 6 609 #E B EHEFE 095345%) 2kmZF INFEIE
11 7 610 BR7E B EHFEFE 105 14F) 2km&F INFIE
12 8 605 n# EF T R)—bk 105>59%) 2kmZF INFIE
13 9 601 B LYK EMAR—RK—ILHFT 115335 2kmZF INFIE
14 10 604 B =i T R—+ 114534470 2kmEF INFEIFE
- - 305 ARZE KEER BR7 X — (FH) - 2kmBF INFEIF
= = 307 A R ERS1=7H57 - 2kmBF /NFIE
- - 308 BE K5 ERLBBHERR - 2kmBF INFEIE

- - 301 /R BAFN B FINERR - kmBF INE3E



